204 53 s ® K 15
AR 4« Ak AR\ BRIEAT kA E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
I| MHHET 2 S 4 MBI P 0D £ D o DX N O —
RERLIA o Hitke 1.0 [l 1.5E 3.3k 0.9k 0.9
RN Aff, 3%, BH, BE. si)llR, o
1 EREiR B s Py o 2 R il KO — 1.5E 2.4~ —
2 _EERLISh oM 1.1 JEJtti’éEtt@ 2t =i
EELIA 0 i 1.0 [Fl 1. 5%l 2. 40 0. 9%l 0.9
Z| i P 3 I LRI N o FE R X ML ge 2.8 | —
EFRLIA o Hitkek 1.0 [l 1. g#h 2. 86 0.9l 0.9
7| ¥F M o R BRLHIER PN oD o P L 3 —l 1. 800 2.8 |  —
EELIA O Hi 1.0 [l 1. 8%l 2. 8t 0. 9t 0. 9
k| HiR 2 SR FL IR N oD B2 P R 3k —l 1.5 3.3 | —
EFELIA 0 110 1. 50 3. 3l 0. 9%l 0.9
NEEE —ME, —AAR, BEM, KIEE, W,
TRE. TuBHE, P, R
1 EREiR B s Py o 2 R il KO i 1.8 2.8 —| —
2 _EELLAA oD Llﬁ%@gw@ thvE T
EEELIA o il 110 1. 8%l 2. 8 0. 9l 0. 9
REEOD 7\ EK 1.1 Eltti'é[:tti”ér i Iy e i
KiE
1 #HRIENE Lo A OOV Nl 5 o= = o= B
2 kiAo
(1) BESEIREHIEMN o B Hh K —t 1.8t 2.8 |  —
(2) LEsESistotisk Ll%&ﬁgkﬁ |7k i
NRLES:
1 HFrEERE oo R 1.1 |[FIEHEE b TE  bhYE B
2 LRELIA o Mt
(1) BRERB IS O R —t 1.8l 2.8 —| —
(2) LFSIsoHg YO 15 o 5 o b R = = I o=
IR




204 53 s ® K °H
AR 4« Ak AR\ BRIEAT kA E
e R ks @ A o w4 [P PEEERTIBEITOGES
K072 1 AR Lo g LTS TP e e R R B
2 ERLIS 0K 1.1 [ 1.8E 2. 83 0. 9 0.9
chAAfR
1 FRHTRHEE Lo AR 11 (E e bl b b
2 FEREAAh o Mgk 1.1 [l 1.8[; 2. 8 0. 9l 0.9
g
1 ERTRTEE o H i L1 | SEE b phif PR
2 RELEA o 1.1 [l 1. gt 2. g 0. 9l 0.9
aalis
1 ERTREE Lo ik 1O B EE b bhi PR
2 RS HR
(1) iR iR P o0 5 A HB K3 —f 1gpt 2.8 | —
(2) kRS OHIR 1O |FECHEE EL e boie  ELTE
—HTf 30 | 1.1 |FEHEAE Y EhHE PR HE
BIRT 30 YO O 115 W= = 5 = = O o = N ==
ERESASN O N BRIIRT R TR FEE o A 1.1 |ALteHEF e s bR bR
RFERLLA o> Hitkek 1.1 [l 1. off 2. 8 0. 9l 0.9




